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Directions (1-5): Study the information
carefully and answer the questions given
below.

Seven boxes P, Q, R, S, T, U and V are placed one
above other in a stack. Each box contains different
numbers of pens i.e, 21, 17, 13, 25, 36, 8 and 15.
All information is not necessarily in same order.
Two boxes are placed between P and U. The
number of pens in box U is a prime number. Box R
placed just above the box which contain 17 pens.
Box V is placed just below box P and contains
lowest number of pens. Two boxes are placed
between box V and box Q, which contains 36 pens.
Box P contains 8 pens more than box U. Box P does
not contain less than 22 pens. Two boxes are
placed between box S and box T. Box T contain
more numbers of pen than box S. Box Q does not
placed just above and just below box S. The
number of pens in box Q is perfect square of a
number. Box R contains number of pens that is
multiple of 5.

Q1. Which of the following box is placed just
above the box which contains 36 pens?

(@R

(b) P

(T

(du

(e) None of these

Q2. Which of the following box contains 13
pens?

@T

(b)Q

(Vv

(dR

(e) None of these

Q3. Which of the following pair of boxes is
placed just above and just below respectively
of box T?

(aJu,p

(b) QP

()R Q

(d)P,S

(e) None of these
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Q4. Four of the following five are alike in
certain way based from a group, find the one
that does not belong to that group?

(a) U-21

(b) Q-25

(c)R-13

(d) T-8

(e) S-25

Q5. How many boxes are placed between box
U and Box S?

(a) Two

(b) Three

(c) Four

(d) More than Four

(e) None

Directions (6-10): Study the information
carefully and answer the questions given
below

Seven persons P, Q, R, S, T, U and V play different
games Volleyball, Tennis, Cricket, Golf, Baseball,
Badminton and Basketball. They all like different
colours i.e., White, Brown, Pink, Red, Yellow,
Green and Blue. All information is not necessarily
in same order.

S likes Red colour and Play badminton. T does not
play Golf and Volleyball. The one who likes yellow
colour does not play cricket. P plays baseball and
does notlike Pink and brown colour. The one who
likes green colour play Basketball. T likes yellow
colour. V likes Blue colour and does not play Golf
and Volleyball. U likes brown colour. Q plays
Volleyball.

Q6. Who among the following likes pink
colour?

(@) P

(b)R

(U

(d)T

(e) None of these
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Q7. Which of the following person play Golf?
(@Q

(b) S

(au

(d)T

(e) None of these

Q8. Which of the following combination is
true?

(a) T-Golf

(b) R-Basketball

(c) S-Tennis

(d) V-Badminton

(e) None is true

Q9. Who among the following play Basketball?
(a) P

(b) S

(AR

(d)T

(e) None of these

Q10. Which of the following given statement is
true?

I. T likes yellow colour and play Golf

[1. P plays baseball

[1I. U likes brown colour

(a) Only I

(b) Only I and II

(c) Only IT and III

(d) Only II

(e) None is true

ALL EXAMS,
ONE SUBSCRIPTION.

24010

Directions (11-15): Study the following
information carefully and answer the given
questions:

Eight students are appearing in an examination in
four different months- August to November in
two different shifts- 8 AM and 5 PM. Only two
persons give exam in between W and T, whose
exam is in the month which have even number of
days. P gives exam in the month having 31 days. S
gives exam in evening shift but before W. Three
persons give exam between U and R. W gives
exam before T. V gives an exam in evening shift of
the month which have odd number of days but
after W. U gives the exam in the month having 30
days but not in November. Only two persons give
exam between P and Q.

Q11. Who among the following appears for
exam in October in evening shift?

(@T

(b) Q

(@S

(d)V

(e) None of these

Q12. T appears in exam in which of the
following month?

(a) October

(b) September

(c) November

(d) August

(e) Can’t determine

Q13. Who among the following appears in
examination immediate before Q?

(@ Vv

(b)U

(@S

(R

(e) None of these
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Q14. Which of the following statement is not
true about R?

(a) R appears for exam in morning shift

(b) R appears for the exam in the month which
have odd numbers of days

(c) T appears in exam immediate after R

(d) Only two persons appear in exam between R
and Q

(e) Both (b) and (d)

Q15. Who among the following appears in
examination in October at 8 AM?

(@P

(b)R

(AW

(dUu

(e) None of these

Directions (16-20): Study the information
carefully and answer the questions given
below.

Nine boxes are placed in a stack one above
another. Not more than three boxes placed below
box C. Three boxes are placed between box C and
box D. Box O is placed just above box D. Box P is
placed above box B and below box E. Box N is
placed at bottom. Box A is placed above box C and
below box E. More than four boxes are placed
between box N and box M. Neither box A nor box
M is placed at top of stack. Not more than one box
is placed between box M and box A.

Q16. Which of the following box is placed just
above box C?

(a) Box B

(b) Box P

(c) Box A

(d) Box N

(e) None of these

Q17. Which of the following box is placed just
below box P?

(a) BoxN

(b) Box C

(c) Box M

(d) BoxB

(e) None of these

Q18. How many boxes are placed in between
box D and Box B?

(a) One

(b) Four

(c) Two

(d) Three

(e) More than Four

Q19. Four of the following five are alike in
certain way based from a group, find the one
that does not belong to that group?

(a) E-C

(b) P-N

(c) M-A

(d) 0-M

(e) D-P

Q20. Which of the following box is placed at

top of stack?

(a) Box O

(b) Box D

(c) Box M

(d) Box P

(e) None of these

Directions (21-25): Study the following
carefully and answer the

questions given below:

Eight persons i.e, R, S, T, U, V, W, X and Y are

working in an office. Each person takes one day

information

leave in different days either on 13t or 25t of the
four different months i.e., January, February,
March and April but not necessarily in same
order.

U takes leave before V but doesn’t take leave in the
month of 31 days. There are three persons take
leave between U and Y. R and S takes leave on
prime numbered date. There are as many persons
take leave before R as after W. Neither T nor X
takes leave on 25t of the month. T takes leave
before S and after X.
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Q21. Who among the following takes leave on
13th April?

(@)X

(b) R

(T

(d)S

(e) None of these

Q22. How many persons take leave between Y
and W?

(a) Three

(b) Two

(c) Five

(d) Four

(e) None of these

Q23. When V takes leave?
(a) 25t February

(b) 25t January

(c) 25t March

(d) 25t April

(e) None of these

Q24. Which among the following is true
regarding X?

(a) No one takes leave after X

(b) Three persons take leave between X and S

(c) X takes leave on 25t January

(d) W takes leave before X

(e) None is true

Q25. Four of the following five are alike in
certain way based from a group, find the one
which does not belong to that group?

(a) S - 13t April

(b) V - 25t February

(c) U - 25t March

(d) W - 25th January

(e) U - 13t January

Directions (26-30): Study the information
carefully and answer the questions given
below.

Six persons P, Q, R, S, T and U are going on holiday
on six different days of week (week starts from
Monday to Saturday). All information is not
necessarily in same order.

Not more than one person goes between Q and T
who goes on Thursday. Two persons go between
T and U. More than one person goes between Q
and P. There is as many persons between U and R
as many between R and P. Q does not go on
Saturday.

Q26. How many persons go between Q and P?
(a) One

(b) Three

(c) Two

(d) Four

(e) None

Q27. Who among the following person goes
just before P?

(@T

(b)R

(A Q

(d)R

(e) None of these

Q28. Who among the following person goes on
Tuesday?

(@)U

(b) P

(@Q

(dR

(e) None of these

Q29. How many persons goes before U?
(a) Two

(b) One

(c) Four

(d) Five

(e) None
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Q30. Which of the following combination is
true?

(a) Monday-Q

(b) Tuesday-R

(c) Tuesday-U

(d) Friday-P

(e) None is true

Directions (31-35): Study the following
information carefully and answer the given
questions.

Seven scientist A, B, C, D, E, F and G belongs to
different country viz, Japan, France, Russia,
Australia, China, India and Germany but not
necessarily in the same order. They are living in a
seven-floor building where lowermost floor is
numbered as 1 and topmost floor is numbered as
7.

D lives on fourth floor but does not belong to
China. F belongs to Japan and he lives either on
sixth or on third floor. C lives on first floor. E
belongs to Germany. B does not live on seventh
floor. The one who belongs to Australia lives on
second floor. F does not live immediate below G.
A lives on fifth floor and he belongs to India. The
one who belongs to France lives on Seventh floor.
Q31. Who among the lives
immediate below F?

following

(a) The one who belongs to China

(b) G

(D

(d) The one who belongs to Australia
(e)C

Q32. How many persons live in between G and
the one who belongs to Russia?

(a) Four

(b) One

(c) Two

(d) Three

(e) None

Q33. Who among the following lives exactly
between A and C?

(a) F

(b) G

(c)D

(d)B

(e) E

Q34. How many persons live below the one
who belong to Germany?

(a) None

(b) Two

(c) Three

(d) More than three

(e) One

Q35. Who among the following belongs to
France?

(@ E

(b) G

(c)B

(d)C

(e)D

Directions (36-40): Study the information
carefully and answer the questions given
below.

Eight persons A, B, C, D, E, F, G and H are going for
a holiday in four different months i.e., January,
March, April and May on two different dates i.e.,
11thand 22nd, All information is not necessarily in
same order.

D goes in the month which has even number of
days. Two persons go between D and F. E goes just
after H but not in the same month. C goes after B.
A goes before G. Not more than one person goes
between C and A. C does not goes in the month
which has even number of days. G does not go in
March. Not more than one person goes between A
and G.
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Q36. Who among the following person go on
11th January?

(a) A

(b) C

(G

(d)D

(e) None of these

Q37. On which of the following date A goes on
holiday?

(a) 11th April

(b) 22nd March

(c) 11t May

(d) 22nd April

(e) 11t March

Q38. How many persons goes between F and
H?

(a) One

(b) Three

(c) Four

(d) More than Four

(e) None

Q39. Who among the following goes just after
D?

(@cC

(b) H

(A

(d) G

(e) None of these

Q40. Four of the following five are alike in
certain way thus from a group, find the one
who does not belong to that group?

(@)B

(b) D

() E

(d)G

(e) A

Directions (41-45): Read the given
information carefully and answer the
questions:

Seven boxes are placed one above another. Each
box contains different numbers of flower i.e., 14,
17,40, 25, 32,9 and 16 but not necessarily in the
same order.

There are three boxes that are placed between
box A and the one which contain maximum
number of flowers. More than four boxes are
placed above box C. Box E does not contain
maximum number of flowers. Box G contain
number of flowers which is perfect square of an
even number. Number of boxes placed between
box G and box D is halfthe number of boxes placed
between box G and box C which contain number
of flowers which is perfect square of an odd
number. Difference between numbers of flowers
is 5 in box D and box F which is placed just below
box D. Box E is placed below box B. Box A contain
15 flowers more than box E. Box B is placed below
box A.

Q41. What is the number of flowers in box D?
(a) 32

(b) 25

(c) Either 14 or 9

(d) 14

(e) 9

Q42. Difference between the number of
flowers of the box which is placed at top of the
stack and the box which is placed at the
bottomis __ .

(a) 15

(b)7

(c) 20

(d)12

(e) None of these
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Q43. How many boxes are placed between box
F and the box which contain 17 flowers?

(a) One

(b) Three

(c) Two

(d) More than three

(e) None of these

Q44. Which among the following box is placed
just above box C?

(a) Box A

(b) Box F

(c) Box B

(d) Box G

(e) None of these

Q45. Which of the following box contain
second highest number of flowers?

(a) Box C

(b) None of these

(c) Box B

(d) Box E

(e) Box A

Directions (46-50): Study the information
carefully and answer the questions given
below.

Six persons are living in a building such that the
ground floor is numbered 0, the floor just above it
is numbered 1 and so on till the topmost floor is
numbered 5. The addition of the floor numbers of
E and A is one less than the floor number on which
C lives. D lives just above F. A does not belongs to
Surat. At least one person lives between the one
who belongs to Pune and D. Not more than one
person lives between B and E. Three persons live
between A and the one who belongs to Vadodara.
B belongs to Gandhinagar. The one is from Surat
does not live adjacent to the one who belongs to
Vadodara. Equal number of persons live between
D and E and the ones belonging to Ahmedabad
and Mumbai. The one who belongs to Mumbai
lives above the one who belongs to Vadodara.

Q46. Who among the following belongs to
Mumbai?

(@) E

(b) F

(o C

(d)A

(e) None of these

Q47. How many persons live between F and
the one belonging to Ahmedabad?

(a) Two

(b) One

(c) Three

(d) Four

(e) None of these

Q48. On which of the following floors does C
live?

(a) 1st

(b) 2nd

(c) 3rd

(d) 4th

(e) None of these

Q49. Who among the following belongs to
Pune?

(@ E

(b) F

(c)C

(d) A

(e) None of these

ALL EXAMS,
ONE SUBSCRIPTION.
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Q50. Four of following form a group, find the
one that does not belong to that group?

(@) E, C

(b)F,B

(0GB

(d)B,A

(e)AE

Directions (51-55): Study the information
carefully and answer the questions given
below.

Six boxes ], K, L, M, N and O are placed one above
another in a stack. They all are different in colour
i.e., Black, Blue, Orange, Green, white and Grey but
not necessarily in same order.

Three boxes are placed between box L and Box K.
Black colour box is placed immediately above box
K. One box is placed between box O and box M
which is blue in colour. Box O is placed above
black colour box. Green colour box is placed above
white colour box. One box is placed between box
L and white colour box. Box O is placed above box
L which is not green and orange colour. Box N is
not white colour.

Q51. How many boxes are placed between box
J] and box 0?

(a) Two

(b) More than Four

(c) One

(d) Three

(e) Four

Q52. Which of the following box is placed at
bottommost position?

(a) Black colour box

(b) Blue colour box

(c) Orange colour box

(d) Green colour box

(e) Grey colour box

Q53. Which of the following box is white
colour?

(a) Box O

(b) Either box O or box K

(c) BoxK

(d) Box L

(e) None of these

Q54. Which of the following combination is
correct?

(a) K-Blue

(b) L-Grey

(c) O-White

(d) J-Green

(e) N-Orange

Q55. Four of the following five are alike in
certain way based from a group, find the one
that does not belong to that group?

(a) J-Grey

(b) L-White

(c) N-Orange

(d) O-Blue

(e) J-Orange

Directions (56-60): Study the following
information carefully and answer the
questions given below.

Six persons P, Q, R, S, T and U are living at seven
storey building. Each of them like different Cars
i.e,, Maruti, Honda, Kia, BMW, Toyota and Volvo.
All information is not necessarily in same order.
One floor is vacant.

P live at 6% floor. One floor is between P and the
one who likes Kia. Two persons live between the
person who likes Honda and the one who likes
Maruti. The person who likes Honda lives above
the one who likes Maruti. Q likes BMW and lives
at the bottommost floor. R lives immediately
below P’s floor and does not like Honda. Two
persons live between U and T. One person lives
between T and the one who likes Toyota. Vacant
floor is one of the above floors of the person who
likes Maruti.

8 I www.bankersadda.com

Test Prime


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
http://www.bankersadda.com/
https://applinknew.adda247.com/d/2QGUSmNnAg

A

Addal247/

GET IT ON
Google Play

Q56. Who among the following person likes
Maruti car?

(@) P

(b) S

(@9Q

(d)T

(e)R

Q57. Which of the following floor is Vacant?
(a) an

(b) 7th

(c) 5t

(d) 1=

(e) None of these

Q58. Which of the following combination is
true?

(a) R-BMW

(b) P-Toyota

(c) U-Kia

(d) S-Honda

(e) Q-Maruti

Q59. Four of the following five are alike in
certain way based form a group, find the one
that does not belong to that group?

(a) Q-R

(b) U-Q

(c) T-R

(d) U-pP

(e) S-R

Q60. Who among the following person likes
Volvo car?

(@Pp

(b) S

@Q

(d)T

(e)R

Directions (61-65): Study the following
information carefully and answer the given
questions.

There are eight boxes i.e. A, B,C, D, E, F, G and H
which are kept one above the other but not
necessarily in the same order. Three boxes are
placed between box F and box C. Box F is placed
above box C. Box B is placed at second position
from the top. Box E is placed just above the box F.
Only one box is placed between box H and box A.
Box D is placed just above box A.

Q61. Which of the following boxes is placed at
the bottommost position?

(@) G

(b)E

(9C

(d)A

(e) None of these

Q62. How many boxes are placed between box
D and box G?

(a) Two

(b) One

(c) Three

(d) None

(e) More than three

Q63. Which of the following statements is true
about box G?

(a) Two boxes are placed above box G

(b) Box A is placed just above box G

(c) Three boxes are placed between box E and Box
G

(d) Box G is placed at the topmost position

(e) All are true

Q64. Which of the following box is placed just
above the box D?

(A H

(b) B

(c) G

(d) C

(e)None of these
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Q65. What is the position of box A?
(a) Just below box G

(b) At third position from the top

(c) Placed below box F

(d) None of these

(e) At fourth position from the bottom

Directions (66-70): Study the following
information and answer the given questions.
Six people A, B, C, D, E and F attend an
examination on six different days of a week from
Monday to Sunday. One of the seven days is a
holiday.

B attends the examination on Monday. D doesn’t
attend the examination on Thursday. F is not the
person who attends the examination just after C.
Only E and F attend the examination after the
holiday. A attends the examination two days
before the holiday. Neither Saturday nor Sunday
is a holiday.

Q66. Which day is the holiday?
(a) Tuesday

(b) Wednesday

(c) Thursday

(d) Friday

(e) None of the above

Q67. Who among the following attends the
examination on Tuesday?

(a) A

(b)D

(@C

(d)B

(e) None of the above

Q68. Who among the following attends the
examination on Sunday?

(@) E

(b) F

(c) None

(d)C

(e) A

Q69. On which day, does C attend the
examination?

(a) Sunday

(b) Monday

(c) Tuesday

(d) Wednesday

(e) Thursday

Q70. Which pair of the following is false?
(a) E - Saturday

(b) D - Tuesday

(c) A - Thursday

(d) Friday - Holiday

(e) F - Sunday

Directions (71-75): Study the information
carefully and answer the questions given
below.

Eight people P, Q, R, S, T, U, V, and W are going on
holiday on two different dates i.e., 5 and 8 in four
different months i.e., January, March, April and
May but not necessarily in the same order.

V goes on the 5t of April. Two persons are going
in between V and P. More than two persons are
going between U and S. U goes just after R but not
in the same month. More than Four persons are
going between S and W. None of them goes in the
month which has an even number of days. More
than one person goes between W and Q. T does
not go in March.

Q71. Who among the following person goes on
8th march?

(AU

(b) Q

()R

(d)T

(e) None of these

Q72. How many persons are going between T
and S?

(a) Four

(b) One

(c) Two

(d) None

(e) Three
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Q73. Who among the following person goes
just before V?

(@T

(b)R

(W

(dUu

(e) None of these

Q74. Four of the following five are alike in a
certain and form a group, find the one who
does not belong to that group?

(AR

(b)Q

(U

(d)T

(e)P

Q75. Which of the following pair of persons
goes in May?

()W, P

(buw

(S, P

(dUu,sS

(e) None of these

Directions (76-80): Study the following
information and answer the given questions.
There are six boxes having different weight. Each
box contains different number of candies- 2, 3, 4,
5, 6 and 1 but not necessarily in the same order.
R contains more candies than M and R’s weight
more than O, which contains odd number of
candies. Box N contains 4 candies. P weighs more
than only 0. M weighs more than Q and N, but less
than R. Box Q contains 2 candies and Q’s weight is
more than N. The difference between the number
of candies of box M and N is 1 and Box M contains
more than 3 candies.

Q76. Which of the following box contains
highest number of candies?

(@R

(b) Q

(@0

(dM

(e) None of these

Q77. Which of the following box is third
heaviest box?

(a) P

(b) O

(AR

(d)Q

(e) None of these

Q78. What is the difference between number
of candies between box R and Q?

(a)3

(b)1

(c) 4

(d) 2

(e) None of these

Q79. Which of the following box is heavier
than N but lighter than M?

(@o

(b) Q

(AR

(d)P

(e) None of these

Q80. How many boxes are lighter than Q?
(a) One

(b) Two

(c) Three

(d) More than Three

(e) None

Directions (81-85): Study the following
information carefully and answer the

questions given below:

Seven persons i.e, ], X, K, Y, L, Z and M goes to a
party on different days of the week. Week starting
from Monday. No two persons go to party on the
same day. Two persons go to party between K and
Z. K goes to party before Z. One person goes to
party between K and ]. ] does not go to party just
before Z. Y goes to party immediately before L. X
goes to party before M but after J.
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Q81. Four of the following five are alike in a
certain way and hence they form a group.
Which one of the following does not belong to
that group?

(@J-X

(b) X-L

(c)K-Y

(d) L-Z

(e) Z-M

Q82. Who among the following goes to party
on Monday?

(@]

(b) X

(9K

(dY

(e) None of these

Q83. The number of persons go to party
between ] and L, is same as the number of
persons go to party between Kand __?

(@)X

b)Y

(c)M

(d)z

(e) None of these

Q84. Who among the following goes to party
just before Z?

(a)]

(b) X

(0K

(d)L

(e) None of these

Q85. Who among the following goes to party at
last?

(@M

(b)]

(Y

(d)Z

(e) None of these

Directions
information

(86-90): Study the following
carefully and answer the
questions given below:
Eight students A, B, C, D, E, F, G and H are giving a
competitive exam in the months of August,
September, October and November but not
necessarily in the same order. In each month, they
give their exam on either 15% or 20t of the given
month.
H gives exam on 15% of any of the month which
has 31 days. Only one student gives exam after F.
Only two students give exam between F and B.
Only one student gives exam between B and C. A
give exam immediately after G. D does not give
exam on the last day and doesn’t give exam in the
month which has 30 days. G does not give exam
after D.

Q86. On which month H gives his exam?
(a) August

(b) September

(c) October

(d) November

(e) Can’t be determine

Q87. Which of the combination is true about
B?

(a) November-15

(b) September-20

(c) October-15

(d) August-20

(e) None of these

Q88. How many students give their exam after
D?

(a) One

(b) Two

(c) Four

(d) Three

(e) None
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Q89. Who among the following gives exam
before D but after A?

(@F

(b) E

(A

(d)B

(e) None of these

Q90. Who among the following gives their
exam on 20t November?

(@G

(b) E

(OF

(dH

(e)D

Directions (91-95): Study the information
carefully and answer the questions given
below.

Eight Boxes P, Q, R, S, T, U, V and Ware placed one
above another in a stack. Each of them is different
colour i.e.,, Red, Blue, Green, Pink, Yellow, White,
Orange and Grey But not necessary in same order.
Box P which is Blue colour placed just above box
which has Orange colour. Three boxes are placed
between Orange colour box and Box T. Box S
placed just above box Q which is Green colour.
More than three boxes placed between Box T and
Box Q. Two boxes are placed between Grey colour
box and White colour box. Box U placed just above
box V which is Red colour. Two boxes placed
between box W and Box U. Box W is placed above
Box U. Box Ris pink colour and does not place just
below white colour box.

Q91. Which of the following box is placed just
above box P?

(@)s

(b)U

(Vv

(d)Q

(e) None of these

Q92. How many boxes are placed between Box
U and Box Q?

(a) One

(b) More than three

(c) Two

(d) None

(e) Three

Q93. Which of the following is colour of Box T?
(a) Orange

(b) Green

(c) Yellow

(d) Blue

(e) None of these

Q94. Which of the following combination is
true?

(a) W-Pink

(b) P-Red

(c) S-Orange

(d) R- White

(e) None is true

Q95. Which of the following statement is not
true regarding V?

(a) V likes Red colour

(b) Box V placed below Pink colour box

(c) Two boxes are placed between R and V

(d) Box V placed below Box P

(e) All is true

ALL EXAMS,
ONE SUBSCRIPTION.

240]0
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Directions (96-100): Study the following
information carefully and answer the given
questions.

There are eight boxes i.e. A, B, C, D, E, F, G and H
which are kept one above the other but not
necessarily in the same order. Three boxes are
placed between box F and box C. Box F is placed
above box C. Box B is placed at second position
from the top. Box E is placed just above the box F.
Only one box is placed between box H and box A.
Box D is placed just above box A.

Q96. Which of the following boxes is placed at
the bottommost position?

(@G

(b) E

(@C

(d)A

(e) None of these

Q97. How many boxes are placed between box
D and box G?

(a) Two

(b) One

(c) Three

(d) None
(e) More than three

Q98. Which of the following statements is true
about box G?

(a) Two boxes are placed above box G

(b) Box A is placed just above box G

(c) Three boxes are placed between box E and Box
G

(d) Box G is placed at the topmost position

(e) All are true

Q99. Which of the following box is placed just
above the box D?

(A H

(b) B

(c) G

(d) C

(e)None of these

Q100. What is the position of box A?
(a) Just below box G

(b) At third position from the top

(c) Placed below box F

(d) None of these

(e) At fourth position from the bottom

Solution (1-5):

Box Pens
R 15
U 17
Q 36
T 21
P 25
\Y% 8
S 13

$1. Ans.(d)

S2. Ans.(e)

S$3. Ans.(b)

S$4. Ans.(c)

$5. Ans.(c)

Solutions (6-10):

Person | Colour | Game
P White | Baseball
Q Pink Volleyball
R Green | Basketball
S Red Badminton
T Yellow | Tennis
U Brown | Golf
Vv Blue Cricket
$6. Ans.(e)
$7. Ans.(c)
$8. Ans.(b)
$9. Ans.(c)
$10. Ans.(c)
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Solutions (11-15): S$21. Ans.(b)
Time | 8 AM 5PM $22. Ans.(c)
Month $23. Ans.(c)
August P S S$24. Ans.(b)
September | U Q $25. Ans.(d)
Octob w \%
ctober Solutions (26-30):
November | R T
Day Person
$11. Ans(d Monday U
- Ans.(d) Tuesday Q
$12. Ans.(c)
Wednesday | R
SlSAHS(b) Thursda T
$14. Ans.(b) et
$15. Ans.(c) riday 3
. : Saturday S
S](;lutlons (16-20): $26. Ans.(c)
0x $27. Ans.(a)
0 $28. Ans.(c)
D $29. Ans.(e)
M $30. Ans.(d)
E
A Solutions (31-35):
C Floor | Person | Country
P 7 G France
B 6 E Germany
N 5 A India
4 D Russia
$16. Ans.(c) 3 F Japan
§17. Ans.(d) 2 B Australia
$18. Ans.(e) 1 C Chi
$19. Ans.(e) S
$20. Ans.(a)
$31. Ans.(d)
Solutions (21-25): gg; 22:%:))
Months | Dates | Persons $34. Ans.(d)
January |13 X $35. Ans.(b)
25 w
February | 13 T Solutions (36-40):
oc U Date | 11tk 22nd
March 13 S ;Vlonth B H
anuary
. 25 v March E C
April 13 R April D A
25 Y May G F
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$36. Ans.(e)
$37. Ans.(d)
$38. Ans.(d)
$39. Ans.(c)
$40. Ans.(e)

Solutions (41-45):

BOX Numbers of flower

32

14/9

9/14

16

40

17

O|mw ool

25

S$41. Ans.(c)
S42. Ans.(b)
$43. Ans.(c)
S44. Ans.(e)
$45. Ans.(e)

Solutions (46-50):

$51. Ans.(a)
$52. Ans.(c)
$53. Ans.(e)
S$54. Ans.(b)
$55. Ans.(c)

Solutions (56-60)

Floor | Person | Car
7 T Volvo
(& P Honda
5 R Toyota
4 u Kia
3 Vacant floor
2 S Maruti
1 Q BMW
$56. Ans.(b)
S$57. Ans.(e)
$58. Ans.(c)
$59. Ans.(a)
$60. Ans.(d)

Solutions (61-65):

Boxes

Floor Persons | Places
5 D Mumbai
4 F Vadodara
3 B Gandhinagar
2 C Surat
1 E Ahmedabad
0 A Pune
$46. Ans.(e)
$47. Ans.(a)
$48. Ans.(b)
$49. Ans.(d)
$50. Ans.(d)
Solutions (51-55):
Box Colour
0 Green
L Grey
M Blue
] White
N Black
K Orange

Q> O Tm|Tmmm o

ALL EXAMS,

ONE SUBSCRIPTION.

240]0
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$61. Ans.(c) Solutions (81-85):
$62. Ans.(e) Days Persons
$63. Ans.(d) Monday ]
S$64. Ans.(a
S65. Ans.%c)) Tuesday X
Wednesday | K
Solutions (66-70): Thursday | Y
Days Persons Friday L
Monday B Saturday Z
Tuesday D Sunday M
Wednesday | A
Thursday C S81. Ans.(b)
Friday Holiday $82. Ans.(a)
Saturday |E $83. Ans.(c)
Sunday F $84. Ans.(d)
$85. Ans.(a)
$66. Ans.(d)
$67. Ans.(b) Solutions (86-90):
:gg: :22?3 Date | 15th | 20t
$70. Ans.(c) glont
August H G
Solutions (71-75): September | A B
Date 5th 8th October D C
Month November | F E
January w R
March Y Q $86. Ans.(a)
April v T $87. Ans.(b)
May S P $88. Ans.(d)
$89. Ans.(d)
$71. Ans.(b) $90. Ans.(b)
S$72. Ans.(d)
$73. Ans.(e) .
$74. Ans.(c) Solutions (91-95):
S75. Ans.(c) Box Colour
w Grey
Solutions (76-80): R Pink
R (6)>M (5)>Q (2)>N (4)>P (1/3)>0 (1/3) T Yellow
U White
$76. Ans.(a) v Red
$77. Ans.(d)
$78. Ans.(c) P Blue
$79. Ans.(b) S Orange
$80. Ans.(c) Q Green
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$91. Ans.(c) $96. Ans.(c)
$92. Ans.(e) $97. Ans.(e)
$93. Ans.(c) $98. Ans.(d)
S$94. Ans.(c) $99. Ans.(a)
$95. Ans.(d) $100. Ans.(c)

Solutions (96-100):

Boxes

G

B

: | Prime

F

H ALL EXAMS,

D ONE SUBSCRIPTION.

A H (N

: g ©
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